

Association Between Healthy Eating Index-2015 and Kidney Stones in American Adults: A Cross-Sectional Analysis of NHANES 2007–2018

Shan Yin^{1†}, Jiahao Wang^{1†}, Yunjin Bai¹, Zhenzhen Yang², Jianwei Cui¹, Yunfei Xiao¹ and Jia Wang^{1*}

¹ Department of Urology, Institute of Urology, West China Hospital, Sichuan University, Chengdu, China, ² Department of Clinical Laboratory, Nanchong Central Hospital, Nanchong, China

Purpose: To explore the association between Healthy Eating Index (HEI)-2015 and kidney stones in an American adult population.

OPEN ACCESS

Edited by:

Cassiana Regina Goes, Sao Paulo State University, Brazil

Reviewed by:

Paula Nahas, Federal University of Uberlandia, Brazil Khashayar Sakhaee, University of Texas Southwestern Medical Center, United States

> ***Correspondence:** Jia Wang wangjiawch@163.com

[†]These authors have contributed equally to this work

Specialty section:

This article was submitted to Clinical Nutrition, a section of the journal Frontiers in Nutrition

Received: 22 November 2021 Accepted: 13 April 2022 Published: 24 May 2022

Citation:

Yin S, Wang J, Bai Y, Yang Z, Cui J, Xiao Y and Wang J (2022) Association Between Healthy Eating Index-2015 and Kidney Stones in American Adults: A Cross-Sectional Analysis of NHANES 2007–2018. Front. Nutr. 9:820190. doi: 10.3389/fnut.2022.820190 **Materials and Methods:** National Health and Nutrition Examination Survey (NHANES) datasets from 2007 to 2018 were used. Participants aged \geq 20 years who reported kidney stone history and dietary recall were included. Weighted proportions, multivariable analysis and spline smoothing were used to evaluate the associations between HEI-2015 and nephrolithiasis by adjusting gender, age, race, poverty income ratio, body mass index, education level, marital status, smoking, alcohol intake, energy level, vigorous activity, moderate activity, and some comorbidities.

Results: Totally 30 368 American adults were included, with weighted mean age [standard deviation (SD)] of 47.69 (16.85) years. The overall mean HEI-2015 score (SD) was 50.82 (13.80). In the fully-adjusted multivariable model, HEI-2015 was negatively correlated with urolithiasis [odds ratio (OR) = 0.991; 95% confidence interval (CI) 0.988 to 0.994]. Compared with the first quartile of HEI-2015, the population in the fourth quartile of HEI-2015 had a lower prevalence of kidney stones (OR = 0.716; 95% CI 0.635 to 0.807). The association was modified by education and vigorous activity.

Conclusions: HEI-2015 is inversely associated with the prevalence of kidney stones, which means better diet quality is associated with a lower risk of nephrolithiasis.

Keywords: kidney stones, HEI-2015, NHANES, association, cross-sectional analysis

INTRODUCTION

Kidney calculus is a common disease worldwide and easily recurs after treatment, which puts heavy burden on the medical and health system. The formation of kidney stones is a multi-factorial process that may involve genetic, metabolic, anatomical and functional abnormalities, and is vitally affected by nutrition (1). A variety of foods or diets are related to kidney stones, such as fruit juices and fruit juice beverages, soft drinks, tea, coffee (1), and the Mediterranean diet (2). Many nutrient components are also associated with kidney calculi, including protein, fat, and carbohydrates (1). However, there is little research on elucidating the association between diet quality and kidney stones.

1

Dietary behavior is an extremely important lifestyle for individuals, as diet is related not only to the maintenance of normal physiological functions in the body, but also to many diseases (3, 4). The Healthy Eating Index (HEI) is a diet quality measure used to assess how well a set of foods aligns with key recommendations of the Dietary Guidelines for Americans (5). HEI can quantitatively assess the diet quality of various human groups and examine the prospective and cross-sectional links of diet quality with health outcomes, such as offspring overweight (6), risk for all-cause mortality of cardiovascular diseases and cancers (7), and depression (8). HEI-2015 as the most current version meets the main recommendations of the 2015–2020 Dietary Guidelines for Americans (5).

But there is limited evidence about the relationship between overall diet quality and kidney stones. Therefore, we investigated the association between HEI-2015 and nephrolithiasis by analyzing National Health and Nutrition Examination Survey (NHANES) cross-sectional data. We hypothesize that better diet quality, namely higher HEI-2015, is associated with lower prevalence of kidney stones.

MATERIALS AND METHODS

Data Source and Population

NHANES is a program of studies designed to evaluate participants' health and nutritional status in America. It combines interviews and physical examinations. We used 6 continuous cycles of NHANES data from year 2007 to 2018. This cross-sectional study included participants aged 20 years or older (n = 34 770). Then pregnant participants (n = 372) and people with incomplete information about kidney stones and HEI-2015 (n = 91) were excluded. Moreover, participants under unreliable dietary recall status or below the levels of minimum criteria (n = 3,936), or with energy intake equal to 0 kcal (n = 3) were excluded. Finally, 30 368 eligible people were included for further analyses. The detailed inclusion and exclusion criteria were shown in **Figure 1**.

All NHANES study protocols were approved by the National Center for Health Statistics (NCHS) research ethics review board and by all participants.

Outcome and Exposure Factors

The main outcome was if one person ever had nephrolithiasis. In NHANES questionnaire sections, participants who replied "yes" to "Have you/Has sample person (SP) ever had kidney stones?" were considered to have a history of kidney calculi. Namely, kidney stone was identified through the participants' self-reports.

The major exposure factor was HEI-2015. HEI-2015 was designed and scored from 0 to 100, which was derived from the sum of 13 components. First, nine adequacy components include total fruits, whole fruits, total vegetables, greens and beans, total protein foods, seafood and plant proteins (each 0–5 points); whole grains, dairy, and fatty acids (each 0–10 points). Second, four moderation components

are sodium, refined grains, added sugars, and saturated fats (each 0–10 points) (5). A higher HEI-2015 score indicates better diet quality. The 13 components of HEI-2015 were calculated using the total nutrient intakes on the first day (DR1TOT), the second day (DR2TOT) and United States Department of Agriculture (USDA) MyPyramid Equivalents Database/Food Patterns Equivalents Database (MPED/FPED) files. All the analysis of the diet quality was carried out by ourselves. **Supplementary Table S1** showed the detailed HEI-2015 scoring criteria.

Covariates

To make the association between kidney stones and HEI-2015 robust, we adjusted the following covariates: age, gender, race, marital status, education, poverty income ratio, body mass index (BMI), smoking, alcohol, energy; vigorous activity, moderate activity, and some self-reported medical conditions (all classified as yes/no). Age was categorized as 20-35, 35-50, 50-65, and >65 years. Races included Mexican American, other Hispanic, non-Hispanic white, non-Hispanic black, other races. Income ratio was set at <1.3, >1.3 and <3.5, >3.5. BMI was divided as <25, 25–30, and \geq 30 kg/m². Smoking was classified as <100 (non-smoker) or \geq 100 cigarettes (smoker) in life. Alcohol was defined as <12 (non-drinker) or ≥ 12 alcohol drinks (drinker) per year. Marital status was divided into married, widowed, divorced, separated, never married, and living with partner. Education level included < 9th grade, 9–11th grade, high school graduate, some college, and college graduate or above. The medical conditions included gout, diabetes, high blood pressure, congestive heart failure, and cancer. Dummy variables were used to indicate missing covariate values for variables with missing values > 2%.

Statistical Analysis

We used sampling weights recommended by Centers for Disease Control and Prevention (CDC). In the baseline characteristics table, continuous variables were expressed as mean \pm standard deviation (SD), and categorical variables as proportions. For the two types of variables, differences among HEI-2015 quartiles were examined by survey-weighted linear regression and surveyweighted Chi-square test respectively. And the *P*-value for trend was obtained by fitting a logistic regression model.

To explore the association between HEI-2015 and kidney stones, we used three logistic regression models with or without adjustment of covariates. Model 1 was unadjusted. Model 2 was adjusted for age, gender and race. Model 3 was adjusted for gender, age, race, poverty income ratio, BMI, education, marital status, smoking, alcohol, energy, vigorous activity, moderate activity, gout, diabetes, high blood pressure, congestive heart failure, and cancer. The same method was used to explore the relationships between the 13 HEI-2015 components and nephrolithiasis. Then we did three sensitivity analyses: 1. We removed the HEI-2015 extreme values that were less than mean-3SD and greater than mean+3SD, and then followed the abovementioned multivariate logistic regression model to analyze the relationship between HEI-2015 and kidney stones; 2. We removed individuals with very low or high caloric intake (<800 or >4,200 kcal/d in men and <600 or >3,500 kcal/d in women),

Abbreviations: HEI, Healthy Eating Index; NHANES, National Health and Nutrition Examination Survey; BMI, body mass index.



	All	Q1(8.81–40.89)	Q2(40.89–50.33)	Q3(50.34–60.35)	Q4(60.35–97.88)	P-value	P for trend*
Non-weighted N	30,368	7,592	7,592	7,592	7,592		
HEI_2015	50.82 ± 13.80	33.91 ± 5.20	45.68 ± 2.73	55.07 ± 2.88	69.22 ± 7.06	<0.001	< 0.001
Energy (kcal)	2168.86 ± 990.76	2262.99 ± 1102.17	2231.38 ± 1011.26	2154.57 ± 969.63	2022.48 ± 840.47	<0.001	<0.001
Age (years, mean \pm SD)	47.69 ± 16.85	43.85 ± 16.32	46.69 ± 16.44	48.89 ± 16.89	51.45 ± 16.81	<0.001	< 0.001
20–34 (%)	26.88	34.84	27.82	23.94	20.66		< 0.001
35–49 (%)	27.44	29.13	29.43	27.93	23.16		< 0.001
50-64 (%)	27.16	23.56	26.71	27.61	30.86		<0.001
≥65 (%)	18.53	12.47	16.04	20.53	25.32		< 0.001
Gender (%)						<0.001	
Male	48.65	52.77	50.86	47.87	42.92		< 0.001
Female	51.35	47.23	49.14	52.13	57.08		<0.001
Race (%)						<0.001	
Mexican American	8.33	8.47	8.82	8.82	7.20		0.025
Other Hispanic	5.69	5.33	5.54	5.88	6.03		0.070
Non-Hispanic white	67.21	67.19	66.73	66.86	68.08		0.505
Non-Hispanic black	11.18	13.05	12.29	10.70	8.61		< 0.001
Other races	7.58	5.97	6.61	7.73	10.07		<0.001
Education (%)						<0.001	
Less than 9th grade	5.13	4.92	5.20	5.75	4.66		0.851
9–11th grade	10.32	13.74	11.05	9.65	6.73		<0.001
High school graduate	23.14	28.75	25.26	22.01	16.35		<0.001
Some college	31.46	32.76	33.18	31.86	27.96		<0.001
College graduate or above	29.95	19.83	25.32	30.73	44.30		<0.001
Marital Status (%)						<0.001	
Married	55.17	48.89	54.49	56.22	61.26		<0.001
Widowed	5.61	4.09	4.77	6.84	6.82		<0.001
Divorced	10.30	11.00	11.04	10.45	8.67		0.001
Separated	2.40	2.60	2.54	2.57	1.88		0.017
Never married	18.37	23.12	18.78	16.63	14.82		<0.001
Living with partner	8.15	10.30	8.39	7.29	6.55		<0.001
Poverty Income Ratio (mean \pm SD)						<0.001	<0.001
≤1.3 (%)	20.01	25.67	21.26	18.64	14.26		< 0.001
>1.3 and <3.5 (%)	33.09	35.85	33.64	33.62	29.14		< 0.001
>3.5 (%)	39.68	31.55	38.48	40.48	48.46		< 0.001
Missing (%)	7.23	6.93	6.61	7.27	8.14		0.027

(Continued)

TABLE 1	Continued
---------	-----------

	All	Q1(8.81–40.89)	Q2(40.89–50.33)	Q3(50.34–60.35)	Q4(60.35–97.88)	P-value	P for trend*
BMI (kg/m ² , mean \pm SD)	29.13 ± 6.92	30.12 ± 7.46	29.57 ± 7.10	28.99 ± 6.68	27.79 ± 6.12	<0.001	<0.001
<25 (%)	27.84	23.93	26.06	27.50	34.04		< 0.001
25–30 (%)	1.55	1.76	1.48	1.41	1.56		0.464
≥30 (%)	32.69	30.01	31.44	34.25	35.16		< 0.001
Missing (%)	37.92	44.29	41.02	36.85	29.25		< 0.001
Smoking (%)						<0.001	
Non-smoker	55.69	50.24	53.18	57.26	62.27		< 0.001
Smoker	44.31	49.76	46.82	42.74	37.73		< 0.001
Alcohol (%)						<0.001	
Non-drinker	17.76	17.46	16.42	17.79	19.42		0.009
Drinker	60.65	59.62	61.32	61.34	60.32		0.694
Missing	21.59	22.92	22.26	20.87	20.26		0.133
High Blood Pressure (%)						0.115	
No	67.66	68.69	67.33	66.93	67.68		0.316
Yes	32.34	31.31	32.67	33.07	32.32		0.316
Diabetes (%)						0.034	
No	87.91	88.80	87.81	87.63	87.37		0.043
Yes	9.89	9.33	9.78	10.30	10.17		0.112
Missing	2.20	1.88	2.41	2.06	2.46		0.177
Congestive Heart Failure (%)						0.063	
No	97.63	97.84	97.64	97.24	97.80		0.533
Yes	2.37	2.16	2.36	2.76	2.20		0.533
Cancer (%)						<0.001	
No	89.54	91.43	89.74	88.97	87.97		<0.001
Yes	10.46	8.57	10.26	11.03	12.03		<0.001
Gout (%)						0.187	
No	95.88	95.65	96.18	96.08	95.63		0.910
Yes	4.12	4.35	3.82	3.92	4.37		0.910
Vigorous activity (%)						<0.001	
No	73.99	78.45	77.07	73.80	66.46		< 0.001
Yes	26.01	21.55	22.93	26.20	33.54		< 0.001
Moderate activity (%)						<0.001	
No	54.19	62.28	57.60	53.43	43.15		< 0.001
Yes	45.81	37.72	42.40	46.57	56.85		< 0.001
Kidney Stones (%)						<0.001	
No	89.98	89.19	88.94	90.13	91.71		<0.001
Yes	10.02	10.81	11.06	9.87	8.29		< 0.001

Mean \pm SD for continuous variables, P-value was by survey-weighted linear regression.

% for categorical variables, P-value was by survey-weighted Chi-square test.

*P for trend was by fitting a logistic regression model.

May 2022 | Volume 9 | Article 820190

and then conducted a sensitivity analysis; 3. Furthermore, we calculated the HEI-2015 scores based on the day 2 dietary recall data, and then performed a sensitivity analysis.

To better explore the association between HEI-2015 and kidney stones, multivariable logistic regression was conducted to explore HEI-2015 as continuous and categorical variables (divided into quarters). The trends were estimated by treating HEI-2015 quartiles as a continuous variable. Then to test whether there was a non-linear association between HEI-2015 and kidney stones, we performed spline smoothing with a generalized additive model (GAM). Finally, we further used stratified logistic regression models for sensitive analyses according to all potential confounding factors at the baseline table.

We combined the sample weights of 6 continuous cycles according to the recommended method on the NHANES website (https://www.cdc.gov/nchs/nhanes/index.htm). According to the suggestion, a variable of interest that was collected on the smallest number of respondents was the "least common denominator." The sample weight that applies to that variable was the appropriate one to use for our analysis. All analyses were performed using R (http://www.R-project.org; The R Foundation) and EmpowerStats (http://www.empowerstats.com, X&Y Solutions, Inc.). We considered a 2-tailed P < 0.05 as statistically significant.

RESULTS

Population Characteristics

Figure 1 described the study design, inclusion and exclusion criteria. A total of 30 368 American adults were included, with weighted mean age (SD) of 47.69 (16.85) years, 48.65% males and 51.35% females. In the fourth quartile of the HEI-2015 population, participants with college level or above accounted for the maximum ratio compared with the other three quartiles. **Table 1** presented the baseline population characteristics according to the quartiles of HEI-2015.

People ever having kidney stones were elder (mean \pm SD = 53.60 \pm 15.45) than those not having kidney stones (47.03 \pm 16.87). Participants with nephrolithiasis had a higher BMI (30.65 \pm 6.96) than non-stone participants (28.96 \pm 6.89) (**Supplementary Table S2**). Besides, a less proportion of kidney stone participants had vigorous and moderate activity than the non-calculus people.

Outcome and Exposure Factors

According to the quartiles of HEI-2015, nephrolithiasis ever accounted for 10.81%, 11.06%, 9.87%, and 8.29% in Q1 (8.81–40.89), Q2 (40.89–50.33), Q3 (50.34–60.35), and Q4 (60.35–97.88), respectively. The overall prevalence of kidney stones was 10.02%. The overall mean (SD) HEI-2015 score was 50.82 (13.80). **Supplementary Figure S1** presented the ratios of mean scores of HEI-2015 components to maximum scores, prevalence of kidney stones and HEI-2015 mean scores in each NHANES cycle. The weighted prevalence of nephrolithiasis was 9.13% in 2007–2008, 8.99% in 2009–2010, 8.70% in 2011–2012, 10.46% in 2013–2014, 11.93% in 2015–2016, and 10.76% in 2017–2018. The non-stone people had a higher mean HEI-2015 score than

TABLE 2 | Association of Healthy Eating Index 2015 with kidney stones.

Exposure	Model 1 ^a	Model 2 ^b	Model 3 ^c
HEI-2015 (continuous)	0.992 (0.990,	0.988 (0.985,	0.991 (0.988,
	0.995) <0.001	0.991) <0.001	0.994) <0.001
Quartile of HEI-2015			
Q1(8.81-40.89)	1.0	1.0	1.0
Q2(40.89–50.33)	1.010 (0.910,	0.963 (0.865,	0.985 (0.884,
	1.122) 0.852	1.071) 0.485	1.099) 0.792
Q3(50.34–60.35)	0.944 (0.849,	0.853 (0.765,	0.896 (0.802,
	1.050) 0.291	0.951) 0.004	1.002) 0.055
Q4(60.35–97.88)	0.771 (0.690,	0.661 (0.589,	0.716 (0.635,
	0.862) <0.001	0.741) <0.001	0.807) <0.001
P-value for trend	<0.001	< 0.001	< 0.001

^aNon-adjusted model: adjusted for None.

^bMinimally adjusted model: adjusted for gender, age, race.

^cFully adjusted model: adjusted for gender, age, race, poverty income ratio, BMI, education, marital status, smoking, alcohol, energy, vigorous activity, moderate activity, gout, diabetes, high blood pressure, congestive heart failure, cancer.

the participants with kidney stones (51.00 \pm 13.88 vs. 49.24 \pm 13.01) (**Supplementary Table S2**). **Supplementary Table S3** showed the distributions of HEI-2015 components by categories of HEI-2015.

Multivariate Regression Analysis

Multivariate regression analysis showed that HEI-2015 was negatively correlated with urolithiasis in the non-adjusted model (model 1) (OR =0.992; 95%CI 0.990 to 0.995), the minimally adjusted model (model 2) (OR = 0.988; 95%CI 0.985 to 0.991), and the fully adjusted model (model 3) (OR = 0.991; 95%CI 0.988 to 0.994). Based on the quartiles of HEI-2015, all three models showed a negative correlation between HEI-2015 and the prevalence of kidney stones. Namely, higher HEI-2015 was associated with lower prevalence of nephrolithiasis. Compared with the first quartile of the HEI-2015 population, the fourth quartile had a lower kidney stone prevalence in model 1 (OR = 0.771; 95%CI 0.690 to 0.862), model 2 (OR = 0.661; 95%CI 0.589 to 0.741) and model 3 (OR = 0.716; 95%CI 0.635 to 0.807). *P* for trend was < 0.001 in all three models (**Table 2**).

Multivariate regression analysis of HEI-2015 components demonstrated that scores of total fruits, whole fruits, total vegetables, added sugars, saturated fats, whole grains and dairy were all significantly associated with kidney stones. The most associated components included added sugars (OR = 0.960; 95%CI 0.949 to 0.972), total fruits (OR = 0.968; 95%CI 0.949 to 0.987), total vegetables (OR = 0.969; 95%CI 0.946 to 0.992), and whole fruits (OR = 0.970; 95%CI 0.952 to 0.987) (details in **Table 3**).

Spline Smoothing

Smooth curve fitting was performed to explore the non-linear association between HEI-2015 and nephrolithiasis (**Figure 2**), which showed a fully-adjusted smooth curve. From this curve, we can regard a linear relationship between HEI-2015 and the prevalence of kidney stones. Higher HEI-2015 was associated with fewer kidney stones, which indicated a negative association.

TABLE 3 | Association of HEI-2015 components with kidney stones.

HEI-2015 Components	Model 1 ^a	Model 2 ^b	Model 3 ^c	
Adequacy components				
Total fruits	0.975 (0.958, 0.993) 0.007	0.955 (0.937, 0.974) <0.001	0.968 (0.949, 0.987) 0.001	
Whole fruits	0.986 (0.969, 1.002) 0.094	0.960 (0.943, 0.977) <0.001	0.970 (0.952, 0.987) <0.001	
Total vegetables	0.983 (0.961, 1.006) 0.139	0.962 (0.941, 0.985) 0.001	0.969 (0.946, 0.992) 0.009	
Greens and beans	0.976 (0.959, 0.994) 0.008	0.979 (0.961, 0.997) 0.023	0.990 (0.972, 1.009) 0.304	
Whole grains	1.000 (0.988, 1.011) 0.953	0.982 (0.971, 0.994) 0.004	0.984 (0.972, 0.997) 0.013	
Dairy	0.998 (0.986, 1.009) 0.665	0.983 (0.972, 0.995) 0.005	0.986 (0.975, 0.998) 0.021	
Total protein foods	0.983 (0.954, 1.012) 0.246	0.978 (0.949, 1.008) 0.144	0.972 (0.942, 1.002) 0.068	
Seafood and plant proteins	0.984 (0.967, 1.000) 0.054	0.976 (0.959, 0.993) 0.005	0.987 (0.970, 1.005) 0.159	
Fatty acids	0.984 (0.974, 0.995) 0.003	0.992 (0.981, 1.003) 0.134	0.994 (0.984, 1.005) 0.312	
Moderation components				
Sodium	0.995 (0.984, 1.006) 0.365	0.994 (0.983, 1.005) 0.297	1.003 (0.992, 1.014) 0.607	
Refined grains	1.001 (0.991, 1.011) 0.879	0.990 (0.980, 1.001) 0.067	0.993 (0.982, 1.004) 0.213	
Added sugars	0.981 (0.970, 0.992) <0.001	0.964 (0.953, 0.975) <0.001	0.960 (0.949, 0.972) <0.001	
Saturated fats	0.966 (0.955, 0.976) <0.001	0.976 (0.965, 0.987) <0.001	0.984 (0.973, 0.996) 0.007	

^aNon-adjusted model adjusted for: None.

^bAdjust I model adjust for: gender, age, race.

^cAdjust II model adjust for: gender, age, race, poverty income ratio, BMI, education, marital status, smoking, alcohol, energy, vigorous activity, moderate activity, gout, diabetes, high blood pressure, congestive heart failure, cancer. Bold values indicate four smallest effect sizes (OR).



TABLE 4 | Stratified logistic regression analysis to identify variables that modify the correlation between HEI-2015 and kidney stones^a.

	Model 1 ^a	P for interaction	Model 2 ^b	P for interaction	Model 3 ^c	P for interaction
Gender		0.064		0.542		0.837
Male	0.996 (0.992, 0.999)		0.989 (0.985, 0.993)		0.990 (0.986, 0.994)	
Female	0.990 (0.986, 0.994)		0.987 (0.983, 0.991)		0.991 (0.986, 0.995)	
Age (years)		0.390		0.440		0.883
20–34	0.987 (0.979, 0.996)		0.987 (0.978, 0.995)		0.990 (0.981, 0.999)	
35–49	0.985 (0.979, 0.991)		0.986 (0.980, 0.992)		0.991 (0.984, 0.997)	
50–64	0.986 (0.981, 0.991)		0.986 (0.981, 0.991)		0.989 (0.984, 0.994)	
≥65	0.991 (0.986, 0.996)		0.991 (0.986, 0.996)		0.992 (0.987, 0.997)	
Race		0.497		0.530		0.921
Mexican American	0.999 (0.991, 1.007)		0.994 (0.986, 1.002)		0.994 (0.986, 1.002)	
Other Hispanic	0.994 (0.986, 1.002)		0.990 (0.982, 0.998)		0.991 (0.983, 1.000)	
Non-Hispanic white	0.991 (0.987, 0.995)		0.987 (0.983, 0.990)		0.990 (0.986, 0.994)	
Non-Hispanic black	0.994 (0.986, 1.002)		0.990 (0.982, 0.998)		0.990 (0.982, 0.998)	
Other races	0.991 (0.982, 1.000)		0.986 (0.976, 0.995)		0.993 (0.982, 1.003)	
Education		0.024		0.005		0.041
Less than 9th grade	0.999 (0.991, 1.008)		0.999 (0.990, 1.008)		0.999 (0.989, 1.009)	
9–11th grade	0.996 (0.989, 1.004)		0.994 (0.986, 1.002)		0.996 (0.988, 1.004)	
High school graduate	0.997 (0.991, 1.004)		0.993 (0.986, 0.999)		0.994 (0.988, 1.001)	
Some college	0.992 (0.987, 0.997)		0.986 (0.981, 0.991)		0.988 (0.982, 0.993)	
College graduate or above	0.985 (0.980, 0.991)		0.981 (0.975, 0.987)		0.985 (0.979, 0.991)	
Marital Status		0.120		0.092		0.090
Married	0.988 (0.984, 0.991)		0.986 (0.982, 0.990)		0.988 (0.984, 0.992)	
Widowed	0.999 (0.990, 1.008)		1.000 (0.991, 1.009)		1.002 (0.992, 1.011)	
Divorced	0.986 (0.978, 0.994)		0.985 (0.977, 0.993)		0.986 (0.977, 0.994)	
Separated	0.994 (0.979, 1.009)		0.993 (0.978, 1.009)		0.994 (0.978, 1.010)	
Never married	0.994 (0.985, 1.003)		0.990 (0.981, 0.999)		0.996 (0.986, 1.006)	
Living with partner	0.997 (0.986, 1.009)		0.990 (0.978, 1.002)		0.996 (0.984, 1.008)	
Poverty Income Ratio		0.403		0.426		0.825
≤1.3	0.994 (0.989, 1.000)		0.992 (0.987, 0.997)		0.992 (0.987, 0.998)	
>1.3 and ≤3.5	0.992 (0.988, 0.997)		0.988 (0.983, 0.993)		0.990 (0.985, 0.995)	

(Continued)

TABLE 4 | Continued

	Model 1 ^a	P for interaction	Model 2 ^b	P for interaction	Model 3 ^c	P for interaction
>3.5	0.989 (0.984, 0.994)		0.986 (0.980, 0.991)		0.989 (0.983, 0.995)	
Missing	0.996 (0.987, 1.006)		0.989 (0.980, 0.999)		0.992 (0.982, 1.002)	
BMI (kg/m ²)	,	0.980	,	0.912	,	0.938
<25	0.993 (0.987, 0.999)		0.988 (0.982, 0.994)		0.990 (0.983, 0.997)	
25–30	0.988 (0.960, 1.018)		0.984 (0.955, 1.015)		0.980 (0.947, 1.014)	
≥30	0.994 (0.989, 0.999)		0.990 (0.985, 0.995)		0.991 (0.986, 0.996)	
Missing	0.994 (0.990, 0.998)		0.990 (0.985, 0.994)		0.991 (0.986, 0.995)	
Smoking		0.787		0.665		0.382
Non-smoker	0.994 (0.990, 0.998)		0.989 (0.985, 0.993)		0.992 (0.988, 0.996)	
Smoker	0.993 (0.989, 0.997)		0.988 (0.984, 0.992)		0.989 (0.985, 0.993)	
Alcohol		0.612		0.354		0.432
Non-drinker	0.995 (0.989, 1.000)		0.992 (0.986, 0.998)		0.994 (0.988, 1.000)	
Drinker	0.992 (0.988, 0.996)		0.987 (0.983, 0.991)		0.989 (0.985, 0.993)	
Missing	0.991 (0.984, 0.997)		0.988 (0.981, 0.994)		0.990 (0.984, 0.997)	
Moderate activity		0.893		0.709		0.789
No	0.993 (0.990, 0.997)		0.989 (0.986, 0.993)		0.990 (0.986, 0.994)	
Yes	0.994 (0.989, 0.998)		0.988 (0.984, 0.993)		0.991 (0.986, 0.996)	
Vigorous activity		0.700		0.039		0.039
No	0.994 (0.991, 0.997)		0.990 (0.987, 0.993)		0.992 (0.989, 0.995)	
Yes	0.992 (0.985, 0.999)		0.982 (0.975, 0.989)		0.984 (0.976, 0.991)	
Gout		0.647		0.262		0.556
No	0.992 (0.989, 0.995)		0.988 (0.985, 0.991)		0.990 (0.987, 0.993)	
Yes	0.995 (0.985, 1.005)		0.994 (0.984, 1.004)		0.994 (0.983, 1.004)	
Congestive heart failure		0.770		0.396		0.437
No	0.992 (0.989, 0.995)		0.988 (0.985, 0.991)		0.990 (0.987, 0.993)	
Yes	0.994 (0.982, 1.006)		0.993 (0.981, 1.006)		0.995 (0.983, 1.008)	
Cancer		0.638		0.270		0.433
No	0.991 (0.988, 0.995)		0.987 (0.984, 0.991)		0.990 (0.987, 0.993)	
Yes	0.993 (0.986, 1.000)		0.992 (0.985, 0.999)		0.993 (0.986, 1.001)	
High blood pressure		0.654		0.404		0.527
No	0.992 (0.988, 0.996)		0.988 (0.984, 0.992)		0.990 (0.986, 0.994)	
Yes	0.991 (0.987, 0.995)		0.990 (0.986, 0.994)		0.992 (0.987, 0.996)	

(Continued)

TABLE 4 | Continued

	Model 18	D for interaction	Model 2b	B for interaction	Model 26	D for interaction
	Woder	Piorimeraction	Model 2	Piorimeraction	Model 3	P for interaction
Diabetes		0.516		0.183		0.120
No	0.992 (0.989,		0.988 (0.984,		0.989 (0.986,	
	0.995)		0.991)		0.993)	
Yes	0.992 (0.986,		0.993 (0.987,		0.996 (0.989,	
	0.998)		0.999)		1.002)	
Missing	0.983 (0.967,		0.981 (0.964,		0.981 (0.964,	
	0.999)		0.997)		0.998)	

^a Adjusted for: None. ^bAdjusted for: gender, age, race. ^cAdjusted for: gender, age, race, poverty income ratio, BMI, education, marital status, smoking, alcohol, energy, vigorous activity, moderate activity, gout, diabetes, high blood pressure, congestive heart failure, cancer. All the models are not adjusted for the variable itself in each stratification.

Compared to the first third of the line, the remaining parts of this line had a greater slope.

Analyses of Subgroups and Interactions

Subgroup analyses (**Table 4**) found that education and vigorous activity were effect modifiers for the relationship between HEI-2015 and kidney stones after adjustment of other covariates. Results showed the effect sizes of the relationship in different education levels and vigorous activity status were significantly different. As for the education level, the odds ratios of people with < 9th grade, 9–11th grade, high school graduate, some college, and college graduate or above were 0.999, 0.996, 0.994, 0.988, and 0.985, respectively with *p* of 0.0414 for interaction. For the vigorous activity status, the odds ratios of participants with and without vigorous activity were 0.984 and 0.992, respectively, with *p* of 0.0392 for interaction.

Sensitivity Analyses

This study used multivariate logistic regression to perform sensitivity analyses after removing extreme HEI-2015 scores and extreme energy intake values and calculating HEI-2015 based on day 2 dietary recall data. All results showed that HEI-2015 was negatively correlated with urolithiasis in the non-adjusted model, the minimally adjusted model, and the fully adjusted model, which was consistent with the above findings. The results of sensitivity analyses were presented in **Supplementary Tables S4–S6**.

DISCUSSION

This cross-sectional study explored the association between HEI-2015 and the prevalence of kidney stones by analyzing 6 cycles of NHANES data sets. Results showed that a higher HEI-2015 score was significantly associated with a lower prevalence of nephrolithiasis. Namely, a better diet quality was significantly correlated to a lower risk of kidney calculi. Education level and vigorous activity can modify the association. Of the 13 HEI-2015 components, scores of added sugars, total fruits, total vegetables and whole fruits were the most associated with kidney stones.

Diet is closely related to kidney diseases (9, 10). At the same time, diet plays an important role in the development of kidney stones, especially the intake of calcium, sodium, fructose, water and other beverages (11).

Our results show that better compliance with HEI-2015, namely better diet quality, is negatively related to the risk of kidney stones. However, there are few studies to clarify the relationship between diet quality (adherence to HEI-2015) and kidney stones. Many of the existing health problems (e.g., overweight, obesity, metabolic syndrome, and diabetes) are closely related to diet (12). In addition, diet is related to metabolic syndrome, as an active and healthy diet is the first-line intervention (13), and the Mediterranean diet can reduce the occurrence of metabolic syndrome (14, 15). Reportedly, improved diet quality reduces the risk of type 2 diabetes, and is associated with a lower risk of diabetes (16). Metabolic diseases such as obesity, metabolic syndrome, and diabetes are risk factors for the formation of kidney stones (17–19).

For HEI-2015, better diet quality means higher consumption of adequacy components (total fruits, whole fruits, total vegetables, greens and beans, whole grains, dairy, total protein foods, seafood and plant proteins, fatty acids) and lower consumption of moderation components (sodium, refined grains, added sugars, saturated fats). Our results indicate that sufficient total fruits, whole fruits, total vegetables and less added sugars are all associated with a lower risk of kidney stones. Reportedly, a diet rich in fruits and vegetables is associated with reduced kidney injury and a lower risk of CKD progression (20), and kidney injury is a factor closely related to the formation of nephrolithiasis. Currently, there are still few articles on the direct relationship between added sugar and kidney stones, but studies show that excessive consumption of added sugar is a risk factor for cardiometabolic diseases (including obesity, type 2 diabetes, and cardiovascular disease) (21), and these factors are closely related to the formation of kidney calculi. Therefore, these indirect evidences also show that better diet quality is associated with a lower risk of kidney stones, which is consistent with our results. Nevertheless, the specific mechanisms and the causal relationship between them shall be further clarified by more high-quality basic and prospective research.

We find that education level and vigorous activity can modify the association between HEI-2015 and kidney stones. Among the participants with higher education level and vigorous activity, the negative relationship between HEI-2015 and the risk of kidney stones is more obvious. We guess that those with higher education level may more closely adhere to a higher HEI-2015 and be more likely to benefit, which still requires further research. As reported, education and lifestyle play important roles in preventing the formation of stones (22). Also, the combination of regular physical activity and a healthy diet is associated with better health outcomes compared to the single effects (23), which is consistent with our results. In other words, among people with high education levels and vigorous activity, better diet quality is associated with lower risk of kidney stones. The above discussion is only speculations based on the existing literature and our research results, and calls for more highquality research to further elucidate the underlying relationship. Nevertheless, what we can determine at present is that the overall trend is consistent regardless of the effect size (effect values are all < 1), or namely HEI-2015 is inversely associated with the prevalence of nephrolithiasis in any education level and any vigorous activity status.

This study is based on a large population analysis about the association between diet quality (based on HEI-2015) and the prevalence of kidney stones, although it is a cross-sectional study rather than a prospective one. In addition, compared with a certain nutrient element, HEI-2015 is a more comprehensive nutritional assessment method, which can better represent the comprehensive nutritional intake of an individual. Therefore, analyzing the relationship between HEI-2015 and kidney stones can more comprehensively show the relationship between nutrition or dietary intake and kidney stones. Furthermore, this research provides a convenient and practical insight into the prevention and control of nephrolithiasis, namely, reducing the prevalence of nephrolithiasis by adhering to better diet quality. Based on a multivariate regression analysis on the components of HEI-2015, we can further understand the relationship between diet quality and kidney stones.

But there are still some limitations. First, we cannot draw a causal relationship between diet quality and the risk of kidney stones due to the cross-sectional study design. Additionally, despite the adjustment of some potential confounding factors, we still cannot completely exclude the confounding caused by some unknown variables. Furthermore, the data on kidney stones came from questionnaires. Some participants were unwilling to answer related questions for a variety of reasons, resulting in non-response, and some participants may have missed some information when answering the questionnaire, all of which will result in bias. In addition, there is no relevant data on kidney stone nature, size, and treatment history in the NHANES database, so we cannot obtain the relationship between different types of kidney stones and HEI-2015 scores, which is also a limitation of this study.

CONCLUSION

HEI-2015 is inversely associated with the prevalence of kidney stones, which means that better diet quality is associated with a lower risk of nephrolithiasis. This negative relationship is more obvious among people with high-level education and those with vigorous activity. Nevertheless, more high-quality prospective studies are needed to clarify the causal relationship between them.

DATA AVAILABILITY STATEMENT

The original contributions presented in the study are included in the article/**Supplementary Material**, further inquiries can be directed to the corresponding author.

ETHICS STATEMENT

The studies involving human participants were reviewed and approved by National Center for Health Statistics (NCHS) research ethics review board. The patients/participants provided their written informed consent to participate in this study.

AUTHOR CONTRIBUTIONS

JiaW and SY: conceptualization and methodology. SY, JiahW, and ZY: data acquisition. SY, JiahW, YB, ZY, JC, and YX: software and formal analysis. SY and JiahW: writing—original draft. JiaW: data curation and supervision. All authors contributed in writing—review and editing, read, and approved the final manuscript.

FUNDING

This work was supported by the 1.3.5 project for disciplines of excellence, West China Hospital, Sichuan University (Grant No. ZY2016104).

SUPPLEMENTARY MATERIAL

The Supplementary Material for this article can be found online at: https://www.frontiersin.org/articles/10.3389/fnut.2022. 820190/full#supplementary-material

Supplementary Figure S1 | (A–F) The ratios of mean scores of HEI-2015 components to maximum scores (A: 2007–2008 cycle, B: 2009–2010 cycle, C: 2011–2012 cycle, D: 2013–2014 cycle, E: 2015–2016 cycle, F: 2017–2018 cycle), (G) Prevalence of kidney stones and HEI-2015 mean scores in each NHANES cycle.

Supplementary Table S1 | HEI–2015 components and scoring standards.

Supplementary Table S2 | Characteristics of participants by categories of kidney stones: NHANES 2007–2018.

Supplementary Table S3 | Distribution of HEI-2015 components by categories of HEI-2015: NHANES 2007–2018.

Supplementary Table S4 | Association of Healthy Eating Index 2015 with kidney stones (after removing extreme HEI-2015 scores).

Supplementary Table S5 | Association of Healthy Eating Index 2015 with kidney stones (after removing extreme energy intake value).

Supplementary Table S6 | Association of Healthy Eating Index 2015 (day 2 dietary recall) with kidney stones.

REFERENCES

- 1. Siener R. Nutrition and kidney stone disease. *Nutrients.* (2021) 13:1917. doi: 10.3390/nu13061917
- Rodriguez A, Curhan GC, Gambaro G, Taylor EN, Ferraro PM. Mediterranean diet adherence and risk of incident kidney stones. *Am J Clin Nutr.* (2020) 111:1100–6. doi: 10.1093/ajcn/nqaa066
- Dalmartello M, Bravi F, Serraino D, Crispo A, Ferraroni M, La Vecchia C, et al. Dietary patterns in italy and the risk of renal cell carcinoma. *Nutrients*. (2020) 12:134. doi: 10.3390/nu12010134
- Hu FB. Globalization of diabetes: the role of diet, lifestyle, and genes. *Diabetes Care*. (2011) 34:1249–57. doi: 10.2337/dc11-0442
- Krebs-Smith SM, Pannucci TE, Subar AF, Kirkpatrick SI, Lerman JL, Tooze JA, et al. Update of the healthy eating index: HEI-2015. J Acad Nutr Diet. (2018) 118:1591–602. doi: 10.1016/j.jand.2018.05.021
- Gete DG, Waller M, Mishra GD. Pre-pregnancy diet quality is associated with lowering the risk of offspring obesity and underweight: finding from a prospective cohort study. *Nutrients*. (2021) 13:1044. doi: 10.3390/nu13041044
- Onvani S, Haghighatdoost F, Surkan PJ, Larijani B, Azadbakht L. Adherence to the healthy eating index and alternative healthy eating index dietary patterns and mortality from all causes, cardiovascular disease and cancer: a meta-analysis of observational studies. *J Hum Nutr Diet.* (2017) 30:216– 26. doi: 10.1111/jhn.12415
- Wang K, Zhao Y. Higher HEI-2015 score is associated with reduced risk of depression: result from NHANES 2005–2016. *Nutrients*. (2021) 13:348. doi: 10.3390/nu13020348
- Yu Y-W, Li M-X, Zhang Z-Y, Yu H. The deficiency of CX3CL1/CX3CR1 system ameliorates high fructose diet-induced kidney injury by regulating NF-κB pathways in CX3CR1-knock out mice. *Int J Mol Med.* (2018) 41:3577– 85. doi: 10.3892/ijmm.2018.3573
- Manning JA, Shah SS, Henshall TL, Nikolic A, Finnie J, Kumar S. Dietary sodium modulates nephropathy in Nedd4-2-deficient mice. *Cell Death Differ*. (2020) 27:1832–43. doi: 10.1038/s41418-019-0468-5
- Ferraro PM, Curhan GC, Gambaro G, Taylor EN. Total, dietary, and supplemental vitamin c intake and risk of incident kidney stones. *Am J Kidney Dis.* (2016) 67:400–7. doi: 10.1053/j.ajkd.2015. 09.005
- Overby NC, Johannesen E, Jensen G, Skjaevesland A-K, Haugen M. Testretest reliability and validity of a web-based food-frequency questionnaire for adolescents aged 13-14 to be used in the Norwegian Mother and Child Cohort Study (MoBa). *Food Nutr Res.* (2014) 58. doi: 10.3402/fnr.v58.23956
- Wilkinson MJ, Manoogian ENC, Zadourian A, Lo H, Fakhouri S, Shoghi A, et al. Ten-hour time-restricted eating reduces weight, blood pressure, and atherogenic lipids in patients with metabolic syndrome. *Cell metabolism*. (2020) 31:92–104.e5. doi: 10.1016/j.cmet.2019.11.004
- Kesse-Guyot E, Ahluwalia N, Lassale C, Hercberg S, Fezeu L, Lairon D. Adherence to mediterranean diet reduces the risk of metabolic syndrome: a 6-year prospective study. *Nutr Metab Cardiovasc Dis.* (2013) 23:677– 83. doi: 10.1016/j.numecd.2012.02.005

- Avila F, Echeverría G, Pérez D, Martinez C, Strobel P, Castillo O, et al. Serum ferritin is associated with metabolic syndrome and red meat consumption. *Oxid Med Cell Longev.* (2015) 2015:769739. doi: 10.1155/2015/769739
- Ley SH, Pan A, Li Y, Manson JE, Willett WC, Sun Q, et al. Changes in overall diet quality and subsequent type 2 diabetes risk: three U.S. prospective cohorts. *Diabetes care*. (2016) 39:2011–8. doi: 10.2337/dc16-0574
- Aune D, Mahamat-Saleh Y, Norat T, Riboli E. Body fatness, diabetes, physical activity and risk of kidney stones: a systematic review and meta-analysis of cohort studies. *Eur J Epidemiol.* (2018) 33:1033–47. doi: 10.1007/s10654-018-0426-4
- Taylor EN, Stampfer MJ, Curhan GC. Diabetes mellitus and the risk of nephrolithiasis. *Kidney Int.* (2005) 68:1230– 5. doi: 10.1111/j.1523-1755.2005.00516.x
- Spatola L, Ferraro PM, Gambaro G, Badalamenti S, Dauriz M. Metabolic syndrome and uric acid nephrolithiasis: insulin resistance in focus. *Metabolism.* (2018) 83:225–33. doi: 10.1016/j.metabol.2018.02.008
- Crews DC, Kuczmarski MF, Grubbs V, Hedgeman E, Shahinian VB, Evans MK, et al. Effect of food insecurity on chronic kidney disease in lower-income Americans. Am J Nephrol. (2014) 39:27–35. doi: 10.1159/000357595
- Huang Y, Kypridemos C, Liu J, Lee Y, Pearson-Stuttard J, Collins B, et al. Cost-effectiveness of the US food and drug administration added sugar labeling policy for improving diet and health. *Circulation*. (2019) 139:2613– 24. doi: 10.1161/CIRCULATIONAHA.118.036751
- 22. Pietropaolo A, Proietti S, Geraghty R, Skolarikos A, Papatsoris A, Liatsikos E, et al. Trends of 'urolithiasis: interventions, simulation, and laser technology' over the last 16 years (2000-2015) as published in the literature (PubMed): a systematic review from European section of Uro-technology (ESUT). World J Urol. (2017) 35:1651–8. doi: 10.1007/s00345-017-2055-z
- Loprinzi PD, Smit E, Mahoney S. Physical activity and dietary behavior in US adults and their combined influence on health. *Mayo Clinic proceedings*. (2014) 89:190–8. doi: 10.1016/j.mayocp.2013.09.018

Conflict of Interest: The authors declare that the research was conducted in the absence of any commercial or financial relationships that could be construed as a potential conflict of interest.

Publisher's Note: All claims expressed in this article are solely those of the authors and do not necessarily represent those of their affiliated organizations, or those of the publisher, the editors and the reviewers. Any product that may be evaluated in this article, or claim that may be made by its manufacturer, is not guaranteed or endorsed by the publisher.

Copyright © 2022 Yin, Wang, Bai, Yang, Cui, Xiao and Wang. This is an open-access article distributed under the terms of the Creative Commons Attribution License (CC BY). The use, distribution or reproduction in other forums is permitted, provided the original author(s) and the copyright owner(s) are credited and that the original publication in this journal is cited, in accordance with accepted academic practice. No use, distribution or reproduction is permitted which does not comply with these terms.